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Oldjuk meg a valés szamok halmazin a kovetkezé egyenleteket:

a) logy(x + 1) + log, 3 = log, 24: b) log,(3x —4) — log,5 = log, (x + 2);
c)lg2x-3)-lgdx+2)=1g3; d) log;(5x—3) —logy4 =log;(4x + 3) —log;5;
e) log;(3x—5) +log;2 =1 + log;(2x—1); ) 1g12-1g(1 —x)=1g20-1g(x +7);

g) log (5x+7) - logy(x+5) =log,3: h) 2-logy(4x + 8) —~ logs(3x + 5) = logz(x +9):
i) 1g(3x +5) +1g(x + 5) = 1g(43x - 5); J)1g5+1g(x+5)-2-1g(3x— 1) =—lg(x + 13);

k) log (4x=7) = log,(1 = x) =log,(7x + 3); 1) lg(x-8)~lg(3x—4)=lg(x-5);
m) logs2 —logs(x — 6) = logs(x—3) - I; n) logg(3x +1) +logg(5x — 1) = %
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Oldjuk meg a kovetkezd logaritmikus egyenleteket:
a) lg(1x-2)-2-lgx+1)=1g2;

b) lgvx—2-lg(x-5)+lg2=0;

¢) logz (x—1) - logs (6x — 5) + logz (2 - 3x) = 2.




